2002 - Linear Motion Question

(b)

A stone 1s thrown vertically upwards under gravity with a speed
of u m/s from a point 30 metres above the horizontal ground.
The stone hits the ground 5 seconds later.

(i) Find the value of u.

(i)  Find the speed with which the stone hits the ground.

A particle, with initial speed u. moves in a straight line with constant
acceleration.

During the time interval from 0 to f. the particle travels a distance p.
During the time interval from f to 2¢. the particle travels a distance g.
During the time interval from 2f to 31, the particle travels a distance r.

(i) Show that 2g=p +r.

(ii)  Show that the particle travels a further distance 2r — g in the time
interval from 3¢ to 4t.
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